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Topic: Numbers

Name: Section: Date:

Time:

Q1: Encircle the correct options.

1. 1000 less than 5310 is
a. 4310

b. 3310

c. 5210

d. 6310

2. 100 more than 6990 is
a. 6999
b. 7090
c. 7009
d. 6100

3. 837+ =5174
a. 4327
b. 4337
c. 4237
d. 4732
4, — 467 =328
759
579

795
d. 975
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Q2 State whether true or false.

a. 147 and 89 have a total of 328

b. 1946 is 2946 1000 years before

c. The total of 5,2,4is 10

d. The difference of 873 and 545 is 328
Q3 Compute these:

a. 40+18+60= b. 3269
+ 4890
C. 4745
- 2382
d. Double 56 8:
e. Half460:

Q4 Ali has saved Rs. 2109 and Agha has saved Rs. 3609. How much more does Agha have
saved than Ali? Also find the total amount.

Q5 A plane flies 6520 miles to London and 2380 miles to Athens. What is the total
distance that the plane covered? What is the difference between the two distances?
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